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QUESTION PAPER FOR THE POST OF TECHNICIAN (ECE)
(PAY LEVEL-3)

Maximum Marks: 50 Time: 1 Hour

Name of Candidate: Roll No:
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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices for
answer (A, B, C, D) to each question. Choose the correct answer (one only) for each question
and write the answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing
pages or questions etc. If so, get it replaced with another question paper, before question paper
starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- )
mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.
Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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7. TS, SATIE TeT 3R 3T Tl oy uiier ¥ afeld 8.
8. I H BIS BT AT Mawrefen 781 eI ATfRT.
9. ier § SR ATEET BT UENT B W IHIRERT T R <l ST

1 AVERA
GES

There are 10 people in a room each with a distinct age. If
the average of their age is 55, what is the least and most
possible age of a person?

e Y H STT-3TTT 39 & 10 @I & | AT ITBT 3 BT
AT 55 &, ar [t eafad b Gad A 3R T8 G9Tfdd 31y
T2

D. 0,11

2. PROFIT
A ND
LOSS

Souvik purchased 70kg vegetable at Rs. 420, then sold
them at the rate of Rs. 6.50 per kg, find the profit percent.

gifaes 7 70 fopeit Gooll 593 B @WET| B 3= 420 T0F BT X
g 9 faam 6.5 ufa fearum, &y ufdsrd 3 Sife)
5.33%

6.33%

7.33%

8.33%

SREE

D. 833%

3. TIME
A N D
WORK

A builder appoints three construction workers Akash,
Sunil and Rakesh on one of his sites. They take 20, 30 and
60 days respectively to do a piece of work. How many
days will it take Akash to complete the entire work if he is
assisted by Sunil and Rakesh every third day?

e foest AU U G158 WA (AT fHep fehrer, GHle
3R TR BT et AT §1 I T B1H B H SHHET: 20,30
3R 60 T AT &1 3R MBI BT & AR 7 AT 3R
T3 HEE A & al 3 T B P B | b & ami?
A. 10 days

B. 15 days

C. 25 days
D. 30 days

B. 15 days

Page 2 of 15



SIMPLE | An amount becomes 7 times in 15 years. In how many C.22.50
INTERE | years will the same amount become 10 times? The rate of
ST interest remains the same for both cases.
15 st ® ep AfET 7 AT & SAvelt 21 Tt it & @€t fsn 10
THT B SATE? ST AT § ST 3BT & q9T &dl &1
A. 20 years
B. 18.75 years
C. 22.50 years
D. 21.50 years
DECIM | The least among the following is: D. (0.2)2
A L S|fRfaf@adagedsre:
A N D|A 02
FRACTI |B.1+02
ONS C.0.2
D. (0.2)2
PROBL | What least number must be added to 1056, so that the sum A.2
EM ON | is completely divisible by 23 ?
NUMB | 1056 # fobg 9 §&AT &I TSl M A1, qlfes AT 23
ERS g awe @ fawrsg €
A.2
B.3
C.18
D.21
Square | Two-third of two-fifth of three-fourth of a number is 36. B.12
R o o t| What is the square root of four-fifth of that number?
a n d A9
Cube|B.12
Root C. 14
D. 16
T 1 m e | Travelling at 1 / 6th of his usual speed a man is late by 30 D. 6
a n d|minutes. What is the usual time taken by him to cover the minutes
Distance | same distance?

e AT & dH-1eTE & I-uTed e &1 1-faerg 36 &
8| 37 TEAT & IR-UTIS 6 BT Iige a7 22

A. 5 minutes

B. 5.25 minutes

C. 5.50 minutes

D. 6 minutes
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Numeric
a |
Comput
ation

Rohan donates blood 5 times in 3 years and each time 350
ml of blood. How many liters of blood will he donate in 9
years?

AT 3 FIeT & 5 IR 3R @ AR 350 AT T S BT el a8 9
[T ¥ fobe w1et TR <M T2

A.6.15

B. 4.75

C. 5.45

[ 8.25

D. 5.25

10

>
= 20
O

Two equilateral triangles have sides of lengths 38 and 114
respectively. The greatest length of tape that can measure
both of them exactly is formed. How many such equal
parts can be measured?

21 GHETE BT Bl ST ShHeT: 38 7R 114 FaTE Bl Bl &1
2U BT HaY I TS ST 37 SHT Bl 31k W HIY el 7, IAAT
21 T o FRIaR Tl BT AT ST HelT 2

A.20
B. 24
€. 27
D. 18

B.24

11

Simplifi
cation

If a-b=16 and a2-b2=544, find the value of 2ab.
Ife a-b = 16 3R a2-b2 = 544 B, AT 2ab BT AH AT HBIFT|

A. 350
B. 450
C. 500
D. 550

B. 450

12

Numeric
a 1
Comput
ation

Arun and Varun each has some money, If Arun gives
Rs.10 to Varun, then Varun will have twice the money left
with Arun. But, if Varun gives Rs.10 to Arun, then they
both have equal amount of money. How much money
does Arun have?

Rs.10 AT 2, A T80T & UTH 37607 & 919 9 g¢ U Bl AT
ST Tt BT, 3R T80T 37507 Bl Rs.10 AT §, 1 37 GHI
& ITH GH T €T €1 30T & U1 e 1 94T 22

A.RS.50
B. RS.60
C.RS8.70
D. Rs.40

A. Rs.50
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13

Excel

Which of the following is NOT a valid Excel function?
frmfefad 3 & & a1 ue 9 v #7882

A. SUM

B. AVG

C.1F

D. VLOOKUP

14

Word

Which feature allows you to combine multiple shapes or
text boxes in MS Word?

A. Grouping

B. Aligning

C. Rotating

D. Flipping

B T G STTUH! THEH 9 H B8 STTBRT IT S ST Bl
TSI B Bl AT T 22

A. GHEIHT
B. GifEd
C. guiq

D. o

15

Comput
e r
Fundam
entals

What is the purpose of the BIOS in a computer system?
A. To manage peripheral devices

B. To handle file storage

C. To initialize hardware during booting

D. To run application programs

S YOTTAT H &, TS, 3. TH. BT 3899 T 22
A. TR IYTOTT BT e H b fow

B. WIS HERUT &l HYTe & fofg

C. YT HA P IRH TEAWR BT IR B & fog
D. IR FriceH} B Sl g

16

Word

What is the purpose of the 'Header' in MS Word?
A. To add text at the bottom of the page

B. To add text at the top of the page

C. To change the page orientation

D. To insert a table of contents

TH. TH. 92 H 2 P Ie99 HT 82
A. U8 & UTS Sired & feg

B. U8 & ¥ W UTS SAled & feig
C. US fMfa=amg & 9o & fag
D. HHYT BT T dTfeiepl 7o & feg
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17

Internet

What does "HTTPS" indicate in a website URL?
A. HyperText Transfer Protocol Secure

B. High-Speed Transfer Protocol

C. Hypertext Server

D. Hyperlink Secure

JeHTEE g, 3R, U, § "I, 21, 3. UY. 7O T S T 22
A. TEIRERE W TP [HRIR

B. TE-TIE ZHHR WIeidbict

C. TSR R

D. EEWfc® fawr

18

Comput
e r
Fundam
entals

Which of the following is an example of system software?
A. Microsoft Word

B. Google Chrome

C. Windows 10

D. Adobe Photoshop

frafafaa § @ &1 a1 fIwn GTRd®R $1 UH 30T 82
A. ATSHIGTR I8

B. el B

C. fag= 10

D. TS BIRISTY

19

M S
Powerpo
int

Which of the following is used to add visual effects to the
transitions between slides in MS PowerPoint?

A. Animation Pane

B. Transition Tab

C. Design Tab

D. Slide Sorter

Frfafad & 9 feaesr Suah uHey urRwrge # wigsl &
e HepHOT H 399 YT SHie o forg o Sirar 2

A. TAHYH BoAd

B. HepHUT ¢

C. fearseq

D. &ATgs Hit

20

Excel

In MS Excel, what is the result of the formula =4+3*2?
T, TH. TR § G = 4 + 3 * 2 T IROTH 7 82

A7

B. 10

C.8

D. 6
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|21

Internet

What is the function of a firewall in a network?
A. To speed up internet connections

B. To block unauthorized access

C. To store emails

D. To display web pages

Feqe § BIIRATA &1 T B 22

A. T FAIRAT § aeil 7 & g
B. 3FIEd Ugd Pl 37968 B & (1T
C. S0 B GUEd B & fefg

D. 39 g8t # U3 B & g

22

Word

How can you quickly apply the same formatting to
multiple pieces of text in a document?

A. Copy and paste

B. Use the Format Painter

C. Use the Find and Replace feature

D. Use the Thesaurus

3T Teb EATAST H UTS b 8 Zohel W Ueh &l WHUUT &l STel
T HY AT R Thd 82

A. BT IR TR &

B. WY {1 IUGNT B

C. @ISt 3R UfdeITos g &1 3o B

D. TR &1 3uamT &

23

Email

What is the primary purpose of an email attachment?
A. To write the email message

B. To include additional files like documents or images
with the email

C. To copy the email to another recipient

D. To set an automatic response

AT GeT™eh Bl UTI e 3299 T 82

A. 30 G foraa & feg

B. $HW & OTY ZEATA T o e tfafed wrset &l
ST BT

C. SHA Bl fBHT 31 YTl Bl BIul BT

D. @aTfeid ufafesar fFaiia s
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24

Comput
e E
System
Fundam
entals

Which of the following is not an input device for a
Computer System?

A. Mouse

B. Keyboard

C. Monitor

D. Scanner

frafafEd & @ & 91 FgR 9oTe! & g TF e
U A&l 82

A. 93

B. dIeE

C. AIAX

D. @R

25

Consider the following statements.

1. Ashoka belongs to the Mauryan dynasty.

2. King Ashoka was known as Devanampriya or Piyadasi.
3. Special officers appointed by Asoka to spread the
message of dhamma were called dhamma Rajuka.

Which of the above statement/s is/are incorrect?

A. 1 only

B. 2 only

C. 3 only

D. None of the above

frfafed Hemt w AR ) 1. 37ene w1 T9deT € died®
@A B 2. TSTT 37976 B AN AT Tt & 919 & AT
STTT 971 3. H7T BT TPl Bl & fog 3797 gRT ey
TeroTy TferepTiiAT <l & TISTehT el STTdT 2T IURT H & B
T BT Teld 87

A. 15dd

B. 2 &dal

C. 3 &de

D. SWiad H § BIE TEl
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26

Which was the last battle of Ashoka?
A. Battle of Plassey
B. Battle of Kalinga
C. Battle of Calicut
D. Battle of Panipat

3TN T 3ifdT ASTE BT 9 &ft?
A. TATH! B @eTE

B. HfciT bl ASTE

C. BIAIB Bl 8T

D. UHIUd &I A8

27

Which of the following type of tax was collected during
the Delhi Sultanate?

A. Ryotwari Tax

B. Income tax68

C. Mahalwadi tax

D. kharaj tax

et Tevd b 2R FfefEd o 9 {69 UaR &1 9 ua
Tea T 2

A. TaaArEl &

B. 3R 68

C. HEaIgI 9

D. @IS X

28

Which one of the following sequences indicates the
correct chronological order?

A. Shankaracharya, Ramanuja, Chaitanya

B. Ramanuja, Shankaracharya, Chaitarya

C. Ramanuja, Chaitanya, Shankaracharya

D. Shankaracharya, Chaitanya, Ramanuja

frafafEa & S a7 37T & BITHHE A Pl Siid
AT 2

A. I, TS, S

B. T S, I

C. TAT, I, Tt

D. Y=, Sa=T, THTS
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29

Who among the following introduced the famous Persian
festival of Nauroz in India?

A. Balban

B. Firoz Tughlaq

C. Iltutmish

D. Ala-ud-din Khilji

frfefed § @ fora IRa § A9 & Ufhe BRET ATER B
I[EATA B2

A. S

B. TS ITeiep

C. gogarasT
D. 3cA1-38-¢H f&etsit

30

The first Muslim invasion of India was led by:
A. Mahmud of Ghazni

B. Mohammed Ghori

C. Mohammed-bin-Qasim

D. Timur

YR R Ugel Jf&AH SATHAUT BT Aded FHHferad A 3
qT:

A. FEHE 3T TSI

B. HIgWg T

C. Higre-fer-wrfaw

D. d%

31

The credit of creation of the covenanted Civil Services of
India, which came to be regarded as the Indian Civil
Services from 1861 onwards, goes to:

A. Wellesley

B. Cornwallis

C. William Bentinck

D. Warren Hastings

WRd b BRES, afdet qamsii & Fafor &1 99, 59 1861 F
1§ MRA T fafde qareit & &9 § /A7 9 @, Frafafaa
CARSIGIES

A. dAEAT

B. ®Harfeid

C. fafaam dfew

D. IRF gfe
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92

Which one among the following Acts for first time
allowed Indians, at theoretically, entry to higher posts in
British Indian administration?

(A) Charter Act, 1813

(B) Charter Act, 1833

(C) Charles Wood's Education Desp, 1854

(D) Indian Councils Act, 1861

Frefafad & @ feg sifafag 3 uget IR ¥Rl & deifde
9§ forfeeT MRt UeTeE § 35 Ul W a9 Bl AgH(d 17
A. T fafiay, 1813

B. 9T Atfafay, 1833

C. TTed ge 1 e faeror, 1854

D. VR gRee ffafTam, 1861

33

On planet Earth, there is no centrifugal force at the .
A. Equator

B. Tropic of Cancer

C. Tropic of Capricorn

D. Poles

gedl T W, T BIE HSTTIRE I el 2

A, A @l
B. &b @l
C. HHL @l

D. Oied

34

Consider the following statement(s):

1. The Earth’s rotation axis is not at 90° to its orbital
plane.

2. The Earth’s rotation axis is inclined at 23.5°.
Which of the statement(s) given above is/are correct?
A. Only 1

B. Only 2

C. Both 1 and 2

D. Neither 1 nor 2

frfafEd wemT W AR HIfST: 1. gedl @1 goiq s1ar 3o
FET T T 90° WLl €1 2. Je&il BT Foi 78T 23.5° |
ST §3TT 81 W T TT e H § BI 1 e FEl 2/e?

A. Had 1

B. &dd 2

C. AT 1 3R 2
D.Tar 1 3RAE2
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35

The Earth’s crust is the thinnest:
A. under the mountain ranges.
B. under continental masses.

C. at ocean bottoms.

D. at mid-oceanic ridges.

A. gdd @ & F,

B. ARG SAHH & AT,
C. 99 P dcl W

D. TI-HEATRY $ehl W

36

Which one among the following atmospheric gases filters
out most of the ultraviolet radiation of the Sun?

A. Oxygen

B. Nitrogen

C. Helium

D. Ozone

et argreea 16 § & S o 9d & STferswir
ST faftor B s 82

A. IS

B. ATeZIeH

C. giferaq

D. 3

37

Which one among the following groups is referred to as
types of precipitation?

A. Fog, Dew, and Rain

B. Air, Water and Soil

C. Fog, Water and Rain

D. Dew, Soil and Rain

Fefeifed gl # 9 9 U &1 auf & UHR & B9 & JTHT
SATT 82

A. BIET, 3T 3R IR

B. &1, UHT 3R gt

C. BIE, U 3R SRS

D. 31, fogt 3R arfsr
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38

North-West anti-trade winds between latitude 40° and 50°
are called

A. cyclone

B. westerlies

C. monsoon

D. planetary winds

T 40° 3R 50° P T FR-UFYT ATIR-ERE Tareii &
T AT &

A. ThaTd

B. afgHT

C. 7Y
D. T2\ &1 gaTe

39

College students should be aware bad habits.

A. from
B. off
C. of
D. by

40

Which conjunction indicates that the reason for some
thing is negative?

A. because of
B. whereas

C. since

D. even though

41

Which of the following is an example of an interjection
expressing boredom?

A. Oh hum

B. hooray

C. whee

D. oops

42

I am working on too many projects. I think I have bitten
off more than I can chew.

A. Not able to finish work

B. To take on more than one can handle
C. To be happy to multitask

D. To find work dull
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43

FLUORESCENT

A. flower
B. perfumed
C. glowing
D. elaborate

44

Unchecked garbage burning and fires in open land is
Delhi’s fight against its deteriorating air
quality.

A. Shackled
B. Hiding

C. Spilling
D. Hampering

45

P. against Hate member Khalid Saifi, arrested in
connection with the northeast
Q. noting that they are not previous convicts nor gangsters

R. a Delhi court has dismissed a petition filed by
authorities

S. Delhi riots last year, in fetters and handcuffs,
T. to produce former JNU student Umar Khalid and
United

A. TQSPR
B. STQPR
C. PQRST
D. RTPSQ

46

Thequestionbelowconsistsofasetoflabeledsentences.Outoft
hefouroptionsgiven,selectthemostlogicalorderofthe
sentences to form a coherent paragraph.

P: human life is a tale of errors and follies,

Q: we all commit errors and mistakes out of ignorance or
inexperience,

R: nobody is infallible

S: in the process of acquiring experience, man often
stumbles and falls down.

A. PRQS

B. PSQR

C. RSPQ

D. PQRS
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47

Find correct spelling:
A. Bibliography
B. Bebliography
C. Bebeography
D. Bibeographe

48

Find correct spelling:

A. Ammalgamation

B. Amalgamation
C. Amallgamation

D. Amalgamattion

49

Find correct spelling:

A. Aligiance

B. Alegiance
C. Allegiance
D. Aligeance

50

The police man arrested the robber and send him to tihad
jail.

A. sent

B. sending

C. ended

D. No improvement
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